

The Jordan Trick

November-20-14 10:04 AM

$$\mathbb{R}\langle p^s \rangle = \langle \mathcal{X} \rangle / p^s \mathcal{X} = 0$$

$$\mathcal{X}_0 = \mathcal{X}$$

$$= \langle \mathcal{X}_0 \dots \mathcal{X}_{s-1} \rangle / \begin{matrix} p\mathcal{X}_i + \mathcal{X}_{i+1} = 0 \\ p\mathcal{X}_{s-1} = 0 \end{matrix}$$

$$\mathcal{X}_1 = -p\mathcal{X}$$

$$\mathcal{X}_2 = p^2\mathcal{X}$$

so $(p^s) \sim \begin{pmatrix} p & & & \\ & p & & \\ & & p & \\ & & & p \end{pmatrix} \sim \begin{pmatrix} 1 & & & \\ & 1 & & \\ & & \ddots & \\ & & & p^s \end{pmatrix} \sim \begin{pmatrix} p & & & \\ 1 & p & & \\ & 1 & p & \\ & & 1 & p \\ & & & 1 & p \\ & & & & 1 & p \end{pmatrix}$

more precisely: